Run 12975, integration on 12 samples

LG pedestal [ADC]

HG pedestal [ADC]

—0.5

~1.0

~ — o _ _ _ _
N .
P L Bk m
’?ooéofo ff.‘oy _.W-
.a.t..a ua e & =
. o. o 4 o.o . 4 r%y-
& e g
ey
o® %Y ono “ga ooﬁo&o |
AV b, GW e dA g DA T
oo?ou hofof.o ° ]
i I.ﬁ— g - 4
. ) | % o
ﬁ... ..wa.u....nﬂ.
TR
n o ;. o n o
(w) A

—0.5

~1.0

£

A TR o gl

T DAL L Aa o

tuyh .w. h..m.y.. .u..a. m

v ......M. m..awe.:ﬂa....f. -

..u. 1 X ..... x

o B0 & &t&%ﬁ .h..a .“..m. - m

.Noc.foo‘-n‘ r‘oﬁ* u
A R R
L, T Vg
Wwes .t s

..&.J...Na ’
n o n o n o 0

1.0

0.5

0.0
X (m)

1.0

0.5

0.0
X (m)

< m N — o (@)} (0] M~ O
B .
}“ ?... m
— i ¥ =
a ol rr s ;
e
g'e° o Q‘oo ° ° m
I Sy
© o‘ % r'ee Joounoo =
s @ ° 9 ooom ° g O
._& h.h fooh.t oo w08 s n..f 0
D Jc.%oﬁ#f‘ 4 ° . ..
© 'S ooooow
S| ettt
o | L Al ool f.oo
> AN AT g
.ove e
') “

1.0

0.5

0.0
X (m)

—0.5

~1.0

LN o LN o LN o To)
— — o (@) o — —
| | I
(w) A
o (@)) o0 N~ (o) LN < mM N
m N N N N N N N N

B HG Median -2.22, std 2.41

. .odo.’no“. Mo

o ®

oooffo ooo.o oo 'S ao.f
% %5 o S, o«-

$ ot ° . .

| Qfooo e ® .0 h.fh

HG pedestal std [ADC]
oy
o
L]
.
.
¢

EngineeringCameraFrame

—0.5

~1.0

1.0
5
.0 -
5
—-1.0

1.0

0.5

0.0
X (m)

B Median 26.17, std 2.16

140 -

100 -

80 1

s|exid

40 -

20 -

O_

25.0 27.5 30.0 325 35.0
HG pedestal std

22.5

0

HG pedestal

-5

—10

B Median 20.12, std 2.13

120 -

B LG Median -1.95, std 2.03

17.5 20.0 225 25.0 275 30.0

—-2.5 0.0 2.5
LG pedestal

—5.0

—-7.5

LG pedestal std



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 12975, pixel O

—— event 1001, HG: RO

baseline correction
+ dt corr + corrected spikes
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Run 12975, pixel O

—— event 1005, HG: RO
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